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3.

Answer any one question from the following:

SRS @-(PI GF15 208 Teg wes
F THPH! TR oG —

(a) (i) SiCly is easily hydrolysed but CCl, is not. — Explain.

(i) Why De-Broglie theory is not applicable for macroscopic particle?

(ili) BFs; is trigonal planar but NFj; is pyramidal. — Explain.

(iv) What is exchange energy?

(i) sicl, =g Reafe 2 o CCl, WA (@ ?

(ii) De-Broglic 3% () e #RIe (FF0a SIS 74 (4 2

(iii) BF; ey R 5% NF; Prafiees e ¢

(iv) fifema e &

@) SiCL, o ARTe STefRoT T wfH=s @ CCly @8 WfbrasT — JARAT R |
(i) Macroscopic HUTE® HI De-Broglie T Rygrd T WA T Al ?
(iii) BF; $137Mel WIFR §9 @R NF; fiRMied g0 — 2l |

(iv) TEe=T Solf Fd! @ & ?

(b) (i) Aglis insoluble in water but AgF is soluble in water. — Explain.

1017

(i) The dipole moment of NaCl is 8.5 D; the distance between the ion Na" and
CI is 2.36 A. Calculate the percentage of dipole moment.

(ili) Why the melting point of CaF; is higher than that of Cal,? -
(iv) What is nodal plane?
() Agl S0 SN 5 AgF & €I (34 2

(i) NaCl @7 fasF @F 8.5 D; Na' @R CI” G WSS T7R 2.36 A.
NaCl s SRR bR o =it fefa et

(iiii) CaF, 42 ¥€IE Cal, FFTAZ ST ALE SIREiNi Rl
(iv) Tomsee & 9

(i) AgF T gereiel §0 R Agl a7 — @Al R

(ii) Nac1ﬁaﬁﬁwanquf8.5Da’rarﬁNa+3rﬁcraﬁw2.36Asﬁnﬁ
£1re smpieT gferar ok TR

(iii) Cal, =T CaF, &I Terid & Sl g9 ?
(iv) ‘ree @ R B 8 ?
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